O (x+y)(x-y)(x+1) @ (x+1)(x-y)y-1)
® (x+1)(y-1)(x+y) @ (x+1)(x-1)r-1)
® x2(y-1)



S 5x+y 2 AR AT QgRasls BAo|t} wrEEl

A a, b ol tioto] a—b O G2 (H,a>b)

(5x+y)(bx+y-3)-18
=A(A-3)-18
=A?-3A-18=(x+y+a)(bx+y+b)

@D 4 ® 6 B 7 @ 8 ® 9



3. (42 -(x+2)-1) -6y -1)*E IrrE?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—2y) @ (x-=3y+5)(x+2y)

® (x-3y—-4)(x-2y+1)



4. oA 16 - 4x? + dxy — y? = Qlg=EoliohH?

O @-x+y)(4-2x+y) @ (4+2x-y)d-x-y)
® 4-2x+y)(4+2x+y) @ (4+2x—y)(4-2x+Y)

® (A4+2x+y)(4-2x-y)



4 — V2 4+ 22
5. a= 3\/_,17: +3\/_

SR
c

o ), da® 4 dab +b* 2 k& F-5Hof=t



a, b, ¢ 7F ARG Al ®le] Aold 1, b +b*c+bc?~a’b+c®~a*c = 0

6.

Arztg el Al el Zololt)

B 7} &A



207% — 1342
522 — 212

= Axtstel=t.



